

九州工業大学学術機関リポジトリ



Title	Fixed point theorems and convergence theorems for some generalized nonexpansive mappings
Author(s)	Suzuki, Tomonari
Issue Date	2008-04-15T00:00:00Z
URL	http://hdl.handle.net/10228/1236
Rights	

FIXED POINT THEOREMS AND CONVERGENCE THEOREMS FOR SOME GENERALIZED NONEXPANSIVE MAPPINGS

TOMONARI SUZUKI

ABSTRACT. We introduce some condition on mappings. The condition is weaker than nonexpansiveness and stronger than quasinonexpansiveness. We present fixed point theorems and convergence theorems for mappings satisfying the condition.

1. INTRODUCTION

A mapping T on a subset C of a Banach space E is called a *nonexpansive mapping* if $\|Tx - Ty\| \leq \|x - y\|$ for all $x, y \in C$. We denote by $F(T)$ the set of fixed points of T . We know that $F(T)$ is nonempty in the case when E is uniformly convex and C is bounded, closed and convex; see Browder [3]. See also [1, 2, 10, 13] and others.

Very recently, in order to characterize the completeness of underlying metric spaces, Suzuki introduced a weaker notion of contractions and proved the following theorem.

Theorem 1 ([21]). *Define a nonincreasing function θ from $[0, 1)$ onto $(1/2, 1]$ by*

$$\theta(r) = \begin{cases} 1 & \text{if } 0 \leq r \leq (\sqrt{5} - 1)/2, \\ (1 - r)r^{-2} & \text{if } (\sqrt{5} - 1)/2 \leq r \leq 2^{-1/2}, \\ (1 + r)^{-1} & \text{if } 2^{-1/2} \leq r < 1. \end{cases}$$

Then for a metric space (X, d) , the following are equivalent:

- (i) X is complete.
- (ii) There exists $r \in (0, 1)$ such that every mapping T on X satisfying the following has a fixed point:
 - $\theta(r)d(x, Tx) \leq d(x, y)$ implies $d(Tx, Ty) \leq rd(x, y)$ for all $x, y \in X$.

Theorem 1 is meaningful because contractions do not characterize the metric completeness while Caristi and Kannan mappings do; see [4, 14, 17]. Since $\lim_{r \rightarrow 1-0} \theta(r) = 1/2$, it is very natural to consider the following condition.

Definition. Let T be a mapping on a subset C of a Banach space E . Then T is said to satisfy *Condition (C)* if

$$(C) \quad \frac{1}{2} \|x - Tx\| \leq \|x - y\| \quad \text{implies} \quad \|Tx - Ty\| \leq \|x - y\|$$

for all $x, y \in C$.

2000 *Mathematics Subject Classification.* 47H09, 47H10.

Key words and phrases. Nonexpansive mapping, fixed point, convergence theorem.

The author is supported in part by Grants-in-Aid for Scientific Research from the Japanese Ministry of Education, Culture, Sports, Science and Technology.

The condition is weaker than nonexpansiveness and stronger than quasiconvexity (see Propositions 1 and 2 below). In this paper, we present fixed point theorems and convergence theorems for mappings satisfying Condition (C).

2. PRELIMINARIES

In this section, we give some preliminaries.

Throughout this paper we denote by \mathbb{N} the set of all positive integers and by \mathbb{R} the set of all real numbers.

Let E be a Banach space. E is said to have the *Opial property* [15] if for each weakly convergent sequence $\{x_n\}$ in E with weak limit z ,

$$\liminf_{n \rightarrow \infty} \|x_n - z\| < \liminf_{n \rightarrow \infty} \|x_n - y\|$$

for all $y \in E$ with $y \neq z$. All Hilbert spaces, all finite dimensional Banach spaces and ℓ^p ($1 \leq p < \infty$) have the Opial property. See also [6, 11]. E is said to be *strictly convex* if

$$\|x + y\| < 2$$

for all $x, y \in E$ with $\|x\| = \|y\| = 1$ and $x \neq y$. We recall that E is said to be *uniformly convex in every direction* (UCED, for short) if for $\varepsilon \in (0, 2]$ and $z \in E$ with $\|z\| = 1$, there exists $\delta(\varepsilon, z) > 0$ such that

$$\|x + y\| \leq 2(1 - \delta(\varepsilon, z))$$

for all $x, y \in E$ with $\|x\| \leq 1$, $\|y\| \leq 1$ and $x - y \in \{tz : t \in [-2, -\varepsilon] \cup [+ \varepsilon, +2]\}$. E is said to be *uniformly convex* if E is UCED and

$$\inf \{\delta(\varepsilon, z) : \|z\| = 1\} > 0$$

for all $\varepsilon \in (0, 2]$. It is obvious that uniform convexity implies UCED, and UCED implies strictly convexity. We know that every separable Banach space can be equivalently renormed so that it is UCED. See [9, 16] and others.

UCED is characterized as follows:

Lemma 1 ([16]). *For a Banach space E , the following are equivalent:*

- (i) E is UCED.
- (ii) *If sequences $\{u_n\}$ and $\{v_n\}$ in E satisfies $\lim_n \|u_n\| = 1$, $\lim_n \|v_n\| = 1$, $\lim_n \|u_n + v_n\| = 2$ and $\{u_n - v_n\} \subset \{tw : t \in \mathbb{R}\}$ for some $w \in E$ with $\|w\| = 1$, then $\lim_n \|u_n - v_n\| = 0$ holds.*

Using Lemma 1, we can prove the following.

Lemma 2. *For a Banach space E , the following are equivalent:*

- (i) E is UCED.
- (ii) *If $\{x_n\}$ is a bounded sequence in E , then a function f on E defined by $f(x) = \limsup_n \|x_n - x\|$ is strictly quasiconvex, that is,*

$$(1) \quad f(\lambda x + (1 - \lambda)y) < \max \{f(x), f(y)\}$$

for all $\lambda \in (0, 1)$ and $x, y \in E$ with $x \neq y$.

Proof. We first show that (i) implies (ii). We assume (i). Fix $\lambda \in (0, 1)$ and $x, y \in E$ with $x \neq y$. We have

$$(2) \quad f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

because f is convex. We consider the following three cases:

- $f(x) \neq f(y)$
- $f(x) = f(y)$ and $\lambda = 1/2$
- $f(x) = f(y)$ and $\lambda \neq 1/2$

In the first case, we have

$$\lambda f(x) + (1 - \lambda) f(y) < \max \{ f(x), f(y) \}.$$

(1) follows from this and (2). In the second case, arguing by contradiction, we assume that (1) does not hold. Then from (2), we have

$$f((1/2)x + (1/2)y) = f(x) = f(y) =: \alpha.$$

We choose a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ satisfying $\lim_j \|x_{n_j} - (1/2)x - (1/2)y\| = \alpha$. Since

$$\begin{aligned} \alpha &= \lim_{j \rightarrow \infty} \|x_{n_j} - (1/2)x - (1/2)y\| \\ &\leq \liminf_{j \rightarrow \infty} ((1/2)\|x_{n_j} - x\| + (1/2)\|x_{n_j} - y\|) \\ &\leq (1/2) \liminf_{j \rightarrow \infty} \|x_{n_j} - x\| + (1/2) \limsup_{j \rightarrow \infty} \|x_{n_j} - y\| \\ &\leq (1/2) \limsup_{j \rightarrow \infty} \|x_{n_j} - x\| + (1/2) \limsup_{j \rightarrow \infty} \|x_{n_j} - y\| \\ &\leq (1/2) f(x) + (1/2) f(y) = \alpha, \end{aligned}$$

we have $\lim_j \|x_{n_j} - x\| = \alpha$. Similarly we can prove $\lim_j \|x_{n_j} - y\| = \alpha$. It follows from $x \neq y$ that $\alpha > 0$. Put $u_j = (x_{n_j} - x)/\alpha$ and $v_j = (x_{n_j} - y)/\alpha$. Then we have $\lim_j \|u_j\| = 1$, $\lim_j \|v_j\| = 1$, $\lim_j \|u_j + v_j\| = 2$ and $u_j - v_j = (y - x)/\alpha$ for $j \in \mathbb{N}$. However, $\lim_n \|u_n - v_n\| = (y - x)/\alpha \neq 0$, which contradicts Lemma 1. Therefore (1) holds. In the third case, if $0 < \lambda < 1/2$, then we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &= f\left(2\lambda((1/2)x + (1/2)y) + (1 - 2\lambda)y\right) \\ &\leq 2\lambda f((1/2)x + (1/2)y) + (1 - 2\lambda)f(y) \\ &< 2\lambda \max \{ f(x), f(y) \} + (1 - 2\lambda)f(y) \\ &= \max \{ f(x), f(y) \}. \end{aligned}$$

Similarly we can prove (1) in the case of $1/2 < \lambda < 1$. We next show that (ii) implies (i). We assume (ii). We suppose $\{u_n\}$ and $\{v_n\}$ are sequences in E , $w \in E$ and $\{t_n\}$ is a sequence in \mathbb{R} such that $\lim_n \|u_n\| = 1$, $\lim_n \|v_n\| = 1$, $\lim_n \|u_n + v_n\| = 2$, $\|w\| = 1$ and $u_n - v_n = t_n w$ for $n \in \mathbb{N}$. Arguing by contradiction, we assume that $\limsup_n \|u_n - v_n\| > 0$ holds. Then since $\{t_n\}$ is bounded, there exists a subsequence $\{t_{n_j}\}$ of $\{t_n\}$ such that $\{t_{n_j}\}$ converges to some $\tau \neq 0$. Define a continuous convex function f on E by

$$f(x) = \limsup_{j \rightarrow \infty} \|v_{n_j} - x\|.$$

It is obvious that

$$\begin{aligned} f(0) &= 1, \\ f(-\tau w) &= \limsup_{j \rightarrow \infty} \|v_{n_j} + \tau w\| = \limsup_{j \rightarrow \infty} \|u_{n_j} - t_{n_j} w + \tau w\| = 1 \text{ and} \end{aligned}$$

$$\begin{aligned} f((1/2)0 + (1/2)(-\tau w)) &= (1/2) \limsup_{j \rightarrow \infty} \|v_{n_j} + v_{n_j} + \tau w\| \\ &= (1/2) \limsup_{j \rightarrow \infty} \|u_{n_j} - t_{n_j} w + v_{n_j} + \tau w\| = 1. \end{aligned}$$

Thus, f is not strictly quasiconvex, which contradicts (ii). Therefore we obtain $\lim_n \|u_n - v_n\| = 0$. By Lemma 1, E is UCED. \square

The following lemma is proved by Goebel and Kirk. See also [18–20].

Lemma 3 (Goebel and Kirk [8]). *Let $\{z_n\}$ and $\{w_n\}$ be bounded sequences in a Banach space E and let λ belong to $(0, 1)$. Suppose that $z_{n+1} = \lambda w_n + (1 - \lambda) z_n$ and $\|w_{n+1} - w_n\| \leq \|z_{n+1} - z_n\|$ for all $n \in \mathbb{N}$. Then $\lim_n \|w_n - z_n\| = 0$.*

3. BASIC PROPERTIES

In this section, we discuss basic properties on Condition (C).

We recall that a mapping T on a subset C of a Banach space E is called *quasinonexpansive* [5] if $\|Tx - z\| \leq \|x - z\|$ for all $x \in C$ and $z \in F(T)$. All nonexpansive mappings with a fixed point are quasinonexpansive.

The following propositions are obvious.

Proposition 1. *Every nonexpansive mapping satisfies Condition (C).*

Proposition 2. *Assume that a mapping T satisfies Condition (C) and has a fixed point. Then T is a quasinonexpansive mapping.*

Proof. Fix $z \in F(T)$ and $x \in C$. Since $(1/2)\|z - Tz\| = 0 \leq \|z - x\|$, we have $\|z - Tx\| = \|Tz - Tx\| \leq \|z - x\|$. \square

Example 1. Define a mapping T on $[0, 3]$ by

$$Tx = \begin{cases} 0 & \text{if } x \neq 3, \\ 1 & \text{if } x = 3. \end{cases}$$

Then T satisfies Condition (C), but T is not nonexpansive.

Proof. If $x < y$ and $(x, y) \in ([0, 3] \times [0, 3]) \setminus ((2, 3) \times \{3\})$, then $\|Tx - Ty\| \leq \|x - y\|$ holds. If $x \in (2, 3)$ and $y = 3$, then

$$(1/2)\|x - Tx\| = x/2 > 1 > \|x - y\| \quad \text{and} \quad (1/2)\|y - Ty\| = 1 > \|x - y\|$$

hold. Thus, T satisfies Condition (C). However, since T is not continuous, T is not nonexpansive. \square

Example 2. Define a mapping T on $[0, 3]$ by

$$Tx = \begin{cases} 0 & \text{if } x \neq 3, \\ 2 & \text{if } x = 3. \end{cases}$$

Then $F(T) \neq \emptyset$ and T is quasinonexpansive, but T does not satisfy Condition (C).

Proof. It is obvious that $F(T) = \{0\} \neq \emptyset$ and T is quasinonexpansive. However, since

$$(1/2)\|3 - T3\| = 1/2 \leq 1 = \|3 - 2\| \quad \text{and} \quad \|T3 - T2\| = 2 > 1 = \|3 - 2\|$$

hold. Thus, T does not satisfy Condition (C). \square

From the definition, we can prove the following lemmas.

Lemma 4. *Let T be a mapping on a closed subset C of a Banach space E . Assume that T satisfies Condition (C). Then $F(T)$ is closed. Moreover, if E is strictly convex and C is convex, then $F(T)$ is also convex.*

Proof. Let $\{z_n\}$ be a sequence in $F(T)$ converging to some point $z \in C$. Since $(1/2)\|z_n - Tz_n\| = 0 \leq \|z_n - z\|$ for $n \in \mathbb{N}$, we have

$$\begin{aligned} \limsup_{n \rightarrow \infty} \|z_n - Tz\| &= \limsup_{n \rightarrow \infty} \|Tz_n - Tz\| \\ &\leq \limsup_{n \rightarrow \infty} \|z_n - z\| = 0. \end{aligned}$$

That is, $\{z_n\}$ converges to Tz . This implies $Tz = z$. Therefore $F(T)$ is closed. Next, we assume that E is strictly convex and C is convex. We fix $\lambda \in (0, 1)$ and $x, y \in F(T)$ with $x \neq y$, and put $z := \lambda x + (1 - \lambda)y \in C$. Then we have

$$\begin{aligned} \|x - y\| &\leq \|x - Tz\| + \|y - Tz\| = \|Tx - Tz\| + \|Ty - Tz\| \\ &\leq \|x - z\| + \|y - z\| = \|x - y\|. \end{aligned}$$

From the strict convexity of E , there exists $\mu \in [0, 1]$ such that $Tz = \mu x + (1 - \mu)y$. Since

$$(1 - \mu)\|x - y\| = \|Tx - Tz\| \leq \|x - z\| = (1 - \lambda)\|x - y\|$$

and

$$\mu\|x - y\| = \|Ty - Tz\| \leq \|y - z\| = \lambda\|x - y\|,$$

we have $1 - \mu \leq 1 - \lambda$ and $\mu \leq \lambda$. These imply $\lambda = \mu$. Therefore we obtain $z \in F(T)$. \square

Lemma 5. *Let T be a mapping on a subset C of a Banach space E . Assume that T satisfies Condition (C). Then for $x, y \in C$, the following hold:*

- (i) $\|Tx - T^2x\| \leq \|x - Tx\|$.
- (ii) *Either $(1/2)\|x - Tx\| \leq \|x - y\|$ or $(1/2)\|Tx - T^2x\| \leq \|Tx - y\|$ holds.*
- (iii) *Either $\|Tx - Ty\| \leq \|x - y\|$ or $\|T^2x - Ty\| \leq \|Tx - y\|$ holds.*

Proof. (i) follows from $(1/2)\|x - Tx\| \leq \|x - Tx\|$. (iii) follows from (ii). Let us prove (ii). Arguing by contradiction, we assume that

$$(1/2)\|x - Tx\| > \|x - y\| \quad \text{and} \quad (1/2)\|Tx - T^2x\| > \|Tx - y\|.$$

Then we have by (i)

$$\begin{aligned} \|x - Tx\| &\leq \|x - y\| + \|Tx - y\| \\ &< (1/2)\|x - Tx\| + (1/2)\|Tx - T^2x\| \\ &\leq \|x - Tx\|. \end{aligned}$$

This is a contradiction. Therefore we obtain the desired result. \square

4. CONVERGENCE THEOREMS

In this section, we give two convergence theorems for mappings with Condition (C). We first prove the following lemmas, which play very important roles in this paper.

Lemma 6. *Let T be a mapping on a bounded convex subset C of a Banach space E . Assume that T satisfies Condition (C). Define a sequence $\{x_n\}$ in C by $x_1 \in C$ and*

$$x_{n+1} = \lambda Tx_n + (1 - \lambda)x_n$$

for $n \in \mathbb{N}$, where λ is a real number belonging to $[1/2, 1)$. Then

$$\lim_{n \rightarrow \infty} \|Tx_n - x_n\| = 0$$

holds.

Proof. From the assumption, we have

$$\frac{1}{2} \|x_n - Tx_n\| \leq \lambda \|x_n - Tx_n\| = \|x_n - x_{n+1}\|$$

for $n \in \mathbb{N}$. Hence

$$\|Tx_n - Tx_{n+1}\| \leq \|x_n - x_{n+1}\|$$

holds for $n \in \mathbb{N}$. So, by Lemma 3, we obtain the desired result. \square

Lemma 7. *Let T be a mapping on a subset C of a Banach space E . Assume that T satisfies Condition (C). Then*

$$\|x - Ty\| \leq 3 \|Tx - x\| + \|x - y\|$$

holds for all $x, y \in C$.

Proof. By Lemma 5, either

$$\|Tx - Ty\| \leq \|x - y\| \quad \text{or} \quad \|T^2x - Ty\| \leq \|Tx - y\|$$

holds. In the first case, we have

$$\|x - Ty\| \leq \|x - Tx\| + \|Tx - Ty\| \leq \|x - Tx\| + \|x - y\|.$$

In the second case, we have by Lemma 5

$$\begin{aligned} \|x - Ty\| &\leq \|x - Tx\| + \|Tx - T^2x\| + \|T^2x - Ty\| \\ &\leq 2 \|x - Tx\| + \|Tx - y\| \\ &\leq 3 \|x - Tx\| + \|x - y\|. \end{aligned}$$

Therefore we obtain the desired result in both cases. \square

Using the above two lemmas, we can prove the following, which is connected with Ishikawa's convergence theorem [12].

Theorem 2. *Let T be a mapping on a compact convex subset C of a Banach space E . Assume that T satisfies Condition (C). Define a sequence $\{x_n\}$ in C by $x_1 \in C$ and*

$$x_{n+1} = \lambda Tx_n + (1 - \lambda)x_n$$

for $n \in \mathbb{N}$, where λ is a real number belonging to $[1/2, 1)$. Then $\{x_n\}$ converges strongly to a fixed point of T .

Proof. By Lemma 6, we have $\lim_n \|Tx_n - x_n\| = 0$. Since C is compact, there exist a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ and $z \in C$ such that $\{x_{n_j}\}$ converges to z . By Lemma 7, we have

$$\|x_{n_j} - Tz\| \leq 3 \|Tx_{n_j} - x_{n_j}\| + \|x_{n_j} - z\|$$

for all $j \in \mathbb{N}$. Therefore $\{x_{n_j}\}$ converges to Tz . This implies $Tz = z$. That is, z is a fixed point of T . By Proposition 2, we have

$$\|x_{n+1} - z\| \leq \lambda \|Tx_n - z\| + (1 - \lambda) \|x_n - z\| \leq \|x_n - z\|$$

for $n \in \mathbb{N}$. Therefore $\{x_n\}$ converges to z . \square

We next prove a convergence theorem connected with Edelstein and O'Brien's [7]. Before proving it, we give the following.

Proposition 3. *Let T be a mapping on a subset C of a Banach space E with the Opial property. Assume that T satisfies Condition (C). If $\{x_n\}$ converges weakly to z and $\lim_n \|Tx_n - x_n\| = 0$, then $Tz = z$. That is, $I - T$ is demiclosed at zero.*

Proof. By Lemma 7, we have

$$\|x_n - Tz\| \leq 3\|Tx_n - x_n\| + \|x_n - z\|$$

for $n \in \mathbb{N}$ and hence

$$\liminf_{n \rightarrow \infty} \|x_n - Tz\| \leq \liminf_{n \rightarrow \infty} \|x_n - z\|.$$

From the Opial property, we obtain $Tz = z$. \square

Theorem 3. *Let T be a mapping on a weakly compact convex subset C of a Banach space E with the Opial property. Assume that T satisfies Condition (C). Define a sequence $\{x_n\}$ in C by $x_1 \in C$ and*

$$x_{n+1} = \lambda Tx_n + (1 - \lambda)x_n$$

for $n \in \mathbb{N}$, where λ is a real number belonging to $[1/2, 1)$. Then $\{x_n\}$ converges weakly to a fixed point of T .

Proof. By Lemma 6, we have $\lim_n \|Tx_n - x_n\| = 0$. Since C is weakly compact, there exist a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ and $z \in C$ such that $\{x_{n_j}\}$ converges weakly to z . By Proposition 3, we have z is a fixed point of T . As in the proof of Theorem 2, we can prove $\{\|x_n - z\|\}$ is a nonincreasing sequence. Arguing by contradiction, assume that $\{x_n\}$ does not converge to z . Then there exist a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ and $w \in C$ such that $\{x_{n_k}\}$ converges weakly to w and $z \neq w$. We note $Tw = w$. From the Opial property,

$$\begin{aligned} \lim_{n \rightarrow \infty} \|x_n - z\| &= \lim_{j \rightarrow \infty} \|x_{n_j} - z\| < \lim_{j \rightarrow \infty} \|x_{n_j} - w\| = \lim_{n \rightarrow \infty} \|x_n - w\| \\ &= \lim_{k \rightarrow \infty} \|x_{n_k} - w\| < \lim_{k \rightarrow \infty} \|x_{n_k} - z\| = \lim_{n \rightarrow \infty} \|x_n - z\|. \end{aligned}$$

This is a contradiction. We obtain the desired result. \square

5. EXISTENCE THEOREMS

In this section, we prove existence theorems of fixed points of mappings with Condition (C). The following theorem directly follows from Theorems 2 and 3.

Theorem 4. *Let T be a mapping on a convex subset C of a Banach space E . Assume that T satisfies Condition (C). Assume also that either of the following holds:*

- C is compact;
- C is weakly compact and E has the Opial property.

Then T has a fixed point.

We generalize a fixed point theorem due to Browder [3] and Göhde [10].

Theorem 5. *Let C be a weakly compact convex subset of a UCED Banach space E . Let T be a mapping on C . Assume that T satisfies Condition (C). Then T has a fixed point.*

Proof. Define a sequence $\{x_n\}$ in C by $x_1 \in C$ and $x_{n+1} = (1/2)Tx_n + (1/2)x_n$ for $n \in \mathbb{N}$. Then by Lemma 6, $\limsup_n \|Tx_n - x_n\| = 0$ holds. Define a continuous convex function f from C into $[0, \infty)$ by

$$f(x) = \limsup_{n \rightarrow \infty} \|x_n - x\|$$

for all $x \in C$. Since C is weakly compact and f is weakly lower semicontinuous, there exists $z \in C$ such that

$$f(z) = \min \{f(x) : x \in C\}.$$

Since

$$\|x_n - Tz\| \leq 3\|Tx_n - x_n\| + \|x_n - z\|$$

by Lemma 7, we have $f(Tz) \leq f(z)$. Since $f(z)$ is the minimum, $f(Tz) = f(z)$ holds. If $Tz \neq z$, then since f is strictly quasiconvex, we have

$$f(z) \leq f\left(\frac{z + Tz}{2}\right) < \max \{f(z), f(Tz)\} = f(z).$$

This is a contradiction. Hence $Tz = z$. □

We finally prove the existence of common fixed points for families of mappings.

Theorem 6. *Let C be a weakly compact convex subset of a UCED Banach space E . Let S be a family of commuting mappings on C satisfying Condition (C). Then S has a common fixed point.*

Proof. Let $T_1, T_2, \dots, T_\ell \in S$. By Theorem 5, T_1 has a fixed point in C , that is, $F(T_1) \neq \emptyset$. By Lemma 4, $F(T_1)$ is closed and convex. We assume that $A := \bigcap_{j=1}^{k-1} F(T_j)$ is nonempty, closed and convex for some $k \in \mathbb{N}$ with $1 < k \leq \ell$. For $x \in A$ and $j \in \mathbb{N}$ with $1 \leq j < k$, since $T_k \circ T_j = T_j \circ T_k$, we have

$$T_k x = T_k \circ T_j x = T_j \circ T_k x,$$

thus $T_k x$ is a fixed point of T_j , which implies $T_k x \in A$. Therefore we obtain $T_k(A) \subset A$. By Theorem 5, T_k has a fixed point in A , that is,

$$A \cap F(T_k) = \bigcap_{j=1}^k F(T_j) \neq \emptyset.$$

Also, the set is closed and convex by Lemma 4. By induction, we obtain $\bigcap_{j=1}^\ell F(T_j) \neq \emptyset$. In other words, $\{F(T) : T \in S\}$ has the finite intersection property. Since C is weakly compact and $F(T)$ is weakly closed for every $T \in S$, we have $\bigcap_{T \in S} F(T) \neq \emptyset$. □

REFERENCES

- [1] J. B. Baillon, *Quelques aspects de la théorie des points fixes dans les espaces de Banach. I, II.* (in French), Séminaire d'Analyse Fonctionnelle (1978–1979), Exp. No. 7-8, 45 pp., École Polytech., Palaiseau, 1979. MR0557363
- [2] F. E. Browder, *Fixed-point theorems for noncompact mappings in Hilbert space*, Proc. Nat. Acad. Sci. USA, **53** (1965), 1272–1276. MR0178324
- [3] ———, *Nonexpansive nonlinear operators in a Banach space*, Proc. Nat. Acad. Sci. USA, **54** (1965), 1041–1044. MR0187120
- [4] E. H. Connell, *Properties of fixed point spaces*, Proc. Amer. Math. Soc., **10** (1959), 974–979. MR0110093

- [5] J. B. Diaz and F. T. Metcalf, *On the structure of the set of subsequential limit points of successive approximations*, Bull. Amer. Math. Soc., **73** (1967), 516–519. MR0211387
- [6] D. van Dulst, *Equivalent norms and the fixed point property for nonexpansive mappings*, J. London Math. Soc., **25** (1982), 139–144. MR0645871
- [7] M. Edelstein and R. C. O'Brien, *Nonexpansive mappings, asymptotic regularity and successive approximations*, J. London Math. Soc., **17** (1978), 547–554. MR0500642
- [8] K. Goebel and W. A. Kirk, *Iteration processes for nonexpansive mappings*, Contemp. Math., **21** (1983), 115–123. MR0729507
- [9] ———, *Topics in metric fixed point theory*, Cambridge Studies in Advanced Mathematics 28, Cambridge University Press (1990). MR1074005
- [10] D. Göhde, *Zum Prinzip der kontraktiven Abbildung*, Math. Nachr., **30** (1965), 251–258. MR0190718
- [11] J.-P. Gossez and E. Lami Dozo, *Some geometric properties related to the fixed point theory for nonexpansive mappings*, Pacific J. Math., **40** (1972), 565–573. MR0310717
- [12] S. Ishikawa, *Fixed points and iteration of a nonexpansive mapping in a Banach space*, Proc. Amer. Math. Soc., **59** (1976), 65–71. MR0412909
- [13] W. A. Kirk, *A fixed point theorem for mappings which do not increase distances*, Amer. Math. Monthly, **72** (1965), 1004–1006. MR0189009
- [14] ———, *Caristi's fixed point theorem and metric convexity*, Colloq. Math., **36** (1976), 81–86. MR0436111
- [15] Z. Opial, *Weak convergence of the sequence of successive approximations for nonexpansive mappings*, Bull. Amer. Math. Soc., **73** (1967), 591–597. MR0211301
- [16] S. Prus, *“Geometrical background of metric fixed point theory”* in Handbook of metric fixed point theory (W. A. Kirk and B. Sims Eds.), 2001, pp. 93–132, Kluwer Academic Publishers, Dordrecht. MR1904275
- [17] P. V. Subrahmanyam, *Completeness and fixed-points*, Monatsh. Math., **80** (1975), 325–330. MR0391065
- [18] T. Suzuki, *Krasnoselskii and Mann's type sequences and Ishikawa's strong convergence theorem*, in Proceedings of the Third International Conference on Nonlinear Analysis and Convex Analysis (W. Takahashi and T. Tanaka Eds.), pp. 527–539, Yokohama Publishers, 2004. MR2144072
- [19] ———, *Strong convergence theorems for infinite families of nonexpansive mappings in general Banach spaces*, Fixed Point Theory Appl., **2005** (2005), 103–123. MR2172156
- [20] ———, *Strong convergence of Krasnoselskii and Mann's type sequences for one-parameter non-expansive semigroups without Bochner integrals*, J. Math. Anal. Appl., **305** (2005), 227–239. MR2128124
- [21] ———, *A generalized Banach contraction principle which characterizes metric completeness*, to appear in Proc. Amer. Math. Soc.

DEPARTMENT OF MATHEMATICS, KYUSHU INSTITUTE OF TECHNOLOGY, SENSUICHO, TOBATA, KITAKYUSHU 804-8550, JAPAN

E-mail address: suzuki-t@mns.kyutech.ac.jp